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A
Xl XH -
[N B

chl

SA B S (B) - HRAY - BYS Ofl & o8 Gl HDE2
01 At 2teltl 6,000 5,000 1,000
OHMEXNHE T2 AIEZ
6,000,000 & 14! 6,000
MEHH 2 200, 150 123,539 76,611
= 25,000
= 22,085
= 153,065
HS= 2el 200, 150 123,539 76,611
= 25,000
& 22,085
= 153,065
OrsS= HoHUEAIE ZXIAS 50,000 43,656 6,344
= 25,000
< 5,000
= 20,000
402 CIZ2EXH20IA 50,000 43,656 6,344
= 25,000
& 5,000
i 20,000
02 QIZEX2AISE E X (O X THE ) 50,000 43,656 6,344
OtMEE ToHoLAId XX
50,000,000 & 1A 50,000
= 25,000
& 5,000
i 20,000
Otd== HIoHEAXE AL 56,950 38,783 18,167
& 17,085
= 39,865
301 LB AZ 56,950 38,783 18,167
& 17,085
=z 39,865
12 J|EI2 &3 56,950 38,783 18,167
OOrMs=0l 28 s&H= Lld24a=
56,950,000 & * 14! 56,950
= 17,085
s 39,865
Fofl=== ToHoIe 2el 88,200 36,100 52,100
206 M= Hl 4,000 3,000 1,000
01 M=l 4,000 3,000 1,000
ORMEs 22 & XZEES HOHX M
5,000 800 4,000
301 LEEAS 84,200 33,100 51,100
12 JIEt2 43 84,200 33,100 51,100
o+g=2gz X3 4,200,000 & 14! 4,200
OOMES THLZE PN
80,000,000 & * 14! 80,000
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SN BAD
HE: ME | 2
ool oSS el (st &

- _ < =
SA - FHB Ol (3) - KNRAY - BYS Ol ko8 i HRE2
Otd== o1HIlol 24X 5,000 5,000
301 LEEA S 5,000 5,000 0
12 J|Et2 &= 5,000 5,000 0
OOrMsS=0l 28 HIl &=
,000,000& 14! 5,000
=dsd 2l 129,59 8,850 120,746
= 60,048
= 69,548
=EQFEA 2t 129,596 8,850 120,746
S 60,048
= 69,548
SHZA Y YA 129,596 8,850 120,746
& 60,048
=z 69,548
201 B2 7,500 7,350 150
01 At 2teldl 7,500 7,350 150
Odtd s =2 Z M= 350,000 x4 1,400
OJHCIot=XlAIE =EHA =2
30,000& 100 3,000
OCESE Z2IY ABE
3,100,000 & 13l 3,100
202 044l 2,000 1,500 500
01 =LHO I 2,000 1,500 500
O+TIA U B4, 2% BEAL 62 =7
50,000 & 22! %203] 2,000
307 glztol 120,096 0 120,096
& 60,048
i 60,048
02 QIRHA A AIHE X 120,096 0 120,096
OMelst>Heleld 2Iet2el X (B#Z2SZH)
200, 160,000 & * 14! +60% 120,096
e 60,048
s 60,048
toletd A 312,490 373,090 260,600
= 138, 100
& 41,430
= 132,960
CHO1&rd JHe 312,490 373,090 260,600
= 138, 100
& 41,430
= 132,960
SHMNERES 2l 12,290 12,290 0
201 23| 11,290 11,290 0
01 At22teltl 3,700 3,700 0
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2M: BE
& osd 24
el o1 i (ctel &3
SA B S (B) - HRAY - BYS Ofl & o8 Gl HDE2
oZMERE=s LDAA +¢
75,0003 208t A 1,500
OSZET Ul FTZ A 700,000 * 14! 700
OSEMERES AAE (JIAAR)S 2F
1,500,000 & * 14! 1,500
02 2224 7,590 7,590 0
OYNELLS DN SBE [
330& *5,000= *23] 3,300
OIMERE S SE20NAN RE=S €80
330& +6,500S *23] 4,290
202 (44| 1,000 1,000 0
01 =LHO4 Bl 1,000 1,000 0
oM REZ I =& 1,000,000 14! 1,000
g =3 24,000 0 24,000
201 LBt 24,000 0 24,000
02 22244 24,000 0 24,000
OUIILEEEHA =/AI 2teldl & HAl
2,000,000 & *12& 24,000
SHLFRI BHSOtA M2 ALY 271,200 160,800 110,400
= 135,600
& 40,680
= 94,920
301 LEIEAS 271,200 160,800 110,400
= 135,600
e 40,680
s 94,920
12 J|Et2 &= 271,200 160,800 110,400
OLFERA XIJIHX XA
241,200,000 & 14! 241,200
= 120,600
= 36,180
= 84,420
OPWoxSAI M2 Xl &X KA
30,000,000 & *14] 30,000
= 15,000
= 4,500
=z 10,500
HElol S&eXtEFel LPGRH MEHXIJALS 5,000 5,000 0
= 2,500
& 750
= 1,750
402 2I2tXt=01H 5,000 0 5,000
= 2,500
& 750
s 1,750
02 QIZIHEAMEE X (0| H ) 5,000 0 5,000
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2M: BE
M o|eE BN
el CHOIEHE N EER-E
= _ SiE|
M- ZH. 09 (31) - NRAR - BAS 0l &t i HIRE2
O0E 0l SSXE2 LPGRH K& ALY
5,000,000 & = 1CH 5,000
= 2,500
& 750
s 1,750
SZEH 22| 738,731 381,621 357,110
= 46,000
& 41,754
= 650,977
gZeENEs A 148,924 136,967 11,957
= 36,000
& 28,029
i 84,895
NS E S 5,500 2,500 3,000
203 YR =&l 3,000 0 3,000
03 Al F AP RFAIH| 3,000 0 3,000
CZBESEHA ANMES 3,000,000 & 1A 3,000
206 M= bl 2,500 2,500 0
01 MHZ bl 2,500 2,500 0
O EstEs BHI7L 5,000 x5Z * 1004 2,500
Szt HA 22 8,3% 4,034 4,360
201 LEt2 A 5,000 0 5,000
03 HAL2 G| 5,000 0 5,000
0201923 &E2 23 H=sUz 2l
5,000,000 & *14l 5,000
301 LEIE NS 3,3% 4,034 AB40
09 HAIABIEAZ 3,3% 4,034 AB40
ONAESXNERAA A It
120,700 & *1021 23| 2,414
ostzoye ¢ LA U2l ot
50,000 & x102! 500
OOMES=SH0IFI & =8E 2N 4L =
AlH| 8,000 & 202133 480
SZAIMFZR QIS4 5,600 2,000 3,600
101 e124dl 3,600 0 3,600
04 D122 2SS E+ 3,600 0 3,600
OFUHZS AHEE &I AY 212
150,000 & *321 *8IH A 3,600
301 LEIE NS 2,000 2,000 0
12 JIEt2 43 2,000 2,000 0
OstPAEZ0 Al LA 1,000,000 & » 14 1,000
OOt sAZE Al TAZ 1,000,000 & 14! 1,000




SN 8B
M SFEBH &g
el BADAES X (cHol: a2
SA-F o9 (3) - NRAY - BHa= Ol kot Gl HDE2
ot& % of2AeDl Hat 51,430 57,000 Ab5,570
= 36,000
= 4,629
s 10,801
101 21244l 51,430 51,000 430
= 36,000
& 4,629
= 10,801
04 JIZ 22 S E+ 51,430 51,000 430
Odid otd ¥ ot7 M0 ALY
51,430,000 & 1A 51,430
= 36,000
= 4,629
= 10,801
MEHH wetE M EIXIALS 78,000 71,433 6,567
& 23,400
= 54,600
401 Al EHIZ 20HHI 78,000 71,433 6,567
= 23,400
s 54,600
01 Al &Hl 78,000 71,433 6,567
OMEHH WES HMAHA 78,000,000 & 14! 78,000
= 23,400
i 54,600
SHEA 23HH 589,807 244,654 345,153
= 10,000
= 13,725
s 566,082
SSSHEA el 223,940 211,944 11,996
101 e124d| 20,240 18,824 1,416
04 D122 S E 20,240 18,824 1,416
OTEETA A0 oIyl
88,0002 1H 230 20,240
201 LEt2 A | 90,700 90,700 0
01 At 2teltl 62,700 62,700 0
O3=3&EA 2 otisE2 M
50,0002 *30H 2 %13l 1,500
O4d=I| H=,3td 2H0I3EA A=
6,800,000 & 9=+ 1& 61,200
02 E323H| 28,000 28,000 0
O3=s&E4A A2l SAdl & HAl
437,500 & 6404 2 28,000
206 M Z HI 25,000 17,000 8,000
01 =4I 25,000 17,000 8,000
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SN S
M SA8M 2|

el StEA 23 (ctel &3
- _ < =
SA - FHB Ol (3) - KNRAY - BYS Ol ko8 i HRE2
oSt 435 & HAES 7
25,000,000 & =14 25,000
307 2Iztol & 83,000 80,000 3,000
05 BI”IRIE = 83,000 80,000 3,000
Oz 2d ZSst&a 23|
83,000,000 & 14 83,000
401 Al EHIZ 20| 5,000 5,000 0
01 A&t 5,000 5,000 0
O3St =2l At 1,000,000 & *5CH 5,000
OISC2 Z=3tE4a =4 31,850 32,710 A 860
= 10,725
s 21,125
201 LBt 5,850 7,210 A 1,360
& 2,925
= 2,925
01 At 2telt 5,850 7,210 21,360
OZ=EA AMES =g XA
5,850,000 & x14] 5,850
= 2,925
= 2,925
401 Al EHIZ 20U 26,000 25,500 500
& 7,800
= 18,200
01 Al&HI 26,000 25,500 500
OSSEA AEIMEAIE 20,000,000 14! 20,000
S 6,000
s 14,000
O3=3H&A Hlag AXIAY
6,000,000 & 14! 6,000
= 1,800
i 4,200
ot&a 2zt 314,017 0 314,017
101 Q1 24H| 172,017 0 172,017
4 D122 2 S ES 172,017 0 172,017
Oofl==% st HA 120,717
OoJl=g 76,0003 5H «220 83,600
O=x=F=Y 76,000 & x5 x26 9,880
OFd2R=E 114,000 2 x5 15 8,550
OEx+< 76,000 & x5 x5 1,900
O30z Eg= 19,000,000 & *5%H +0.045 4,275
OLNEZEEER 19,000,000 & x5& *0.015 1,425
OALEEEEE 19,000,000 & «5%+0.0324 3,078
OIRYBEE 19,000,000 x5 *0.07338 7,011
OutdTH 2 2 19,000,000 x5 *0.0105 998
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SN S
M SA8M 2|

el BEA 23 (et e
= _ SiE|
M- ZH. 09 (31) - NRAR - BAS 0l &t i HIRE2
O AHE 2 SEa HAolRy
76,000 & 1501 +45! 51,300
201 LEH2FH| 42,000 0 42,000
01 At 2teltl 22,000 0 22,000
Os&a Fx A 10,000,000 * 14 10,000
O3ESEA UZH) (LLF)
12,000,000 & %14 12,000
02 E32g| 20,000 0 20,000
Ozt 223l 20,000,000 & » 14 20,000
206 M=l 15,000 0 15,000
01 =4I 15,000 0 15,000
OsdA Ma+e 15,000,000 & * 14 15,000
307 2lzZtol 55,000 0 55,000
05 BIZtRIEZ 55,000 0 55,000
OSXSTA HAS (FYS)
38,000,000 & =14 38,000
OTAIZBRSEA HARE 17,000,000 14 17,000
401 Al EBIZ2UYI 30,000 0 30,000
01 A&l 30,000 0 30,000
OstEA RANE+ 30,000,000 & 1A 30,000
FHaAX G GHZel A 20,000 0 20,000
= 10,000
& 3,000
i 7,000
401 Al EHIZ20HYI 20,000 0 20,000
= 10,000
= 3,000
= 7,000
01 A&l 20,000 0 20,000
OO XIos AL AN
20,000,000 & =14 20,000
= 10,000
= 3,000
s 7,000
HOIZ2 2el 5,981,432 4,565,952 1,415,480
= 614,673
J| 14,336
& 414,021
= 4,938,402
HOI2 2 538,522 559,427 A20,905
= 38,773
& 11,224
i 488,525
Meldl SEH 22 280,876 309,096 A28,220
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SN 3
M HII2 22l
chel: HoI2 2 (crol:®el

SA - BH . (B30) - HSEAY - BAS Ofl & o8 Gl HDE2
201 LEH2 A 30,200 30,200
01 At2teltl 14,200 14,200 0
OMEDIZSSN &3 AEIH L EES HE
400& *5,0000H 2,000
OMAESE AHS QLB HIZ
100,000 & =120 2~ 1,200
oMyl 2= RS 222 HHE
4002 *10,0007H 2~ 4,000
OLINX MYDISEH =& QHLHE M=
150, 0002 *20 04 A 3,000
oOsASMYD| 2eltiE EE22 ME
4002 =10, 0000H 4,000
02 2224l 16,000 16,000 0
osu=E L& 1,000 *1,00000 & 1,000
O3A2+H UE S &eldl
15,000,000 & * 14 15,000
202 044l 5,976 5,976 0
01 = LHA B 5,976 5,976 0
OsAsMe)l /AEXe P2 =&
16,600 & 221 %1803 5,976
206 M=l 122,000 120,000 2,000
01 M=l 122,000 120,000 2,000
OSA=2TEN =FMH 25,000,000 & 14 25,000
o2A2M4YD] =HEI| 2 70,0002 1004 7,000
oMdIIESEN =5 M 90,000,000 & 14! 90,000
307 2lzZtol ™ 108,000 137,500 229,500
05 BI”IRIE = 108,000 137,500 229,500
osASMY D RAE Xl 120,000 *900E 108,000
401 Al EHIZ 20U 14,700 15,000 A300
01 Al&ZHI 14,700 15,000 2300
OMgJl HHE&EA A &X
2,100,000 & +7JH 2= 14,700
SYHEI| gX 23,800 6,200 17,600
201 L2 4,200 4,200 0
01 At 2telt 4,200 4,200 0
OHJIE =8FJl LX HLHE M=
80,000 & *15JH A 13 1,200
OLZtA= M2 BHEEA XE QHHE M2
150,000 & *200H & 3,000
301 LEEAS 2,000 2,000 0
12 JIEt2 43 2,000 2,000 0
OMYIIEINXR &l BA3 100,000& *203] 2,000
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M 2#En
M HIlI=E 2l
2R HolE 28

= = L=
SA - BH . (B30) - HSEAY - BAS Ofl & o8 Gl HDE2
401 Al EHIZ 20| 17,600 0 17,600
01 Al 17,600 0 17,600
oMl 28Il 0lsA SaZAIEX &K
4,400,000 & »4CH 17,600
HOIZ2 HEE 24 64,000 57,000 7,000
201 LEH2 A H| 2,000 2,000 0
01 ALR2-21H| 2,000 2,000 0
OMEE A== 2AUEEE HMH
50,000 & *20H 2= x13] 1,000
sZHJIZS 2d=H EE2=2 MA
50,000 & 204 2= x13] 1,000
206 M= 4l 19,000 19,000 0
01 =4I 19,000 19,000 0
OMEBEE =el42{8 7Y 200,000 +2004 4,000
OHEZS - HAMKX =g 72
300,000 & 304 9,000
onzss =d=H 1=2 M
3,000& *2,0000H 6,000
301 LB AZ 36,000 36,000 0
12 J|Et2 4= 36,000 36,000 0
OMEES =& B3 25,0002 *1,200& 30,000
OSSN 20t 242
1,000,000 & 64 A *13] 6,000
303 Z& = 7,000 0 7,000
01 Z&3 7,000 0 7,000
OMEEZ Fola=H 2AH Z&
7,000,000 & *14] 7,000
1285 2l 1,000 1,280 A 280
201 LEH2 A 1,000 1,000 0
01 AFR2teltl 1,000 1,000 0
01388 =017 AUHEE=S MEH
4003 *2,50004 1,000
MeEstA 2l 92,660 81,467 11,193
101 14| 89,760 78,567 11,193
041222 S ES 89,760 78,567 11,193
OGHEDl JIZHM EA018 Q14|
88,000 & *17H+60 89,760
201 LEH2 A 2,000 2,000 0
01 At 2teld| 2,000 2,000 0
OHgZS Ml =25 1,000,000 & *23] 2,000
202 O4d| 900 900 0
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chl

HEAY - BA=

Off &t

50,0003 »221%93|

900
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W

1,360
,360
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1,384
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W
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1,384
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10& *136,000kg

W

1,360
1,360
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1,384

N24

HetE sUIltE EXAY

M

74,826
37,413
11,224
26,189

88,000

A13,174

401 Al 2 HIZ S Y|

HH A

74,826
37,413
11,224
26,189

88,000

A13,174

01 Al&HI

omMag suotg (28st

A) X

74,826,000 & 14|

H A

74,826

74,826
37,413
11,224
26,189

88,000

A13,174

x
e
sl
w

X

247,730

115,900
14,336
797
116,697

260,966

A13,236

=dI0IE HMelX#

M

231,800

115,900
115,900

245,280

213,480

M

231,800

115,900
115,900

245,280

213,480

At
231,800,000 & 141

H W

231,800

231,800

115,900
115,900

245,280

13,480

AHLHAH S¢

HHnX

15,930
14,336
797
797

15,686
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Xl XH -
[N B

chl

2tF
HII=2 22l
Azl

SA - BH . (B30) - HSEAY - BAS Ofl & o8 Gl HDE2
o 797
01 AlSIEEE =513 15,930 15,686 244
oAdHIl 2= 15,930,000 & 1 15,930
J| 14,336
& 797
= 797
SEHIIZS MelAld =4 5,146,355 3,696,734 1,449,621
= 460,000
& 402,000
i 4,284,355
SOHE HIISXcAE &EX 400,000 0 400,000
= 100,000
= 150,000
= 150,000
401 Al EHIZ 20U 400,000 0 400,000
= 100,000
& 150,000
= 150,000
01 A&t 397,000 0 397,000
O=s0HE HIISX2AE SEAY
397,000,000 & » 14 397,000
= 99,250
= 148,875
= 148,875
03 Al& S CHYI 3,000 0 3,000
O=s0E HIISHAIE S4AS
3,000,000 & 14l 3,000
=2 750
& 1,125
= 1,125
SZAANH 29 3,546,355 2,895,894 650,461
101 21244l 99,490 92,491 6,999
04 J1tM22 s 99,490 92,491 6,999
OB AHFHE F=CI2Z AR Q12| 99,490
OoJlzz 88,000 301263 69,432
Ozl 5,000& 3021 x263 3,945
OF ==y 88,000 & »321x51= 13,464
(OFPNEa=Eul=y 88,000 & x321%123] 3,168
O=oz=2E=a 90,009,000 & *0.045 4,051
(OME=I=)=: == 90,009,000& *0.015 1,351
OAHLEERE3 90,009,000 *0.0324 2,917
OdHEEZ 90,009,000& *0.0105 946
OWIRAEER 2,917,000& *0.0738 216
201 23| 69,100 64,640 4,460
01 At22teltl 11,100 7,640 3,460
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2M: BE
3 Holg 22
el SEHIIZ2 XMelAlE =4 (ctel &3
- L=
SA - BH . (B30) - HSEAY - BAS Ofl & o8 Gl HDE2
(OF=RIEa= 1] 5,600,000 & » 14 5,600
O1l=Hl 200,000& «7¢2l 1,400
OXot=ZAE =Z2ZA =2
850,000 & 43| 3,400
ONSMEIRRE dosE 100,000 7% 700
02 22244 58,000 57,000 1,000
0332z ¥ HA 1,000,000 & =122 12,000
O A& ZHHIR X b 23,000,000 & * 14 23,000
O A2l 18,000,000 & » 14! 18,000
o2ZEH EEZ 5,000,000 & 14l 5,000
202 (44l 700 700 0
01 =LHO4 I 700 700 0
QHIIEHMel gRF& 50,000 & *121 %143 700
206 M=l 55,800 55,800 0
01 =4I 55,800 55,800 0
ONME=EE 0t 2 5,000 x1,20004 6,000
og&itAa 7 2,000 9004 1,800
o=H 72 25,0002 *1,0004 25,000
OEHM 7L 60,000 *300H 18,000
O=FH0ls ¢9%4E 7 25,0002 *200H 5,000
307 2lzZtol 2,805,765 2,379,713 426,052
05 BIZtRIE 3 2,805,765 2,379,713 426,052
QAR HE AE2ZHI
2,337,389,000 & * 14! 2,337,389
ONMEEE Z2ldEAN 468,376,000 & * 14! 468,376
308 AtXIEHMIS0I A 187,500 0 187,500
11 JIEtRE3 187,500 0 187,500
QHIIEM=RE3 187,500,000 & *14] 187,500
401 A€ HI RS CHYI 328,000 302,550 25,450
01 A&t 328,000 302,550 25,450
O H=E ZHILX (HSR)
10,000,000 & * 14! 10,000
ONYZ=E LR (ZZ)
10,000,000 & * 14! 10,000
OA2EY =1t BHAHDIIZE MelAtg
100,000 & *1,200m 120,000
QJIA HEIINEE B 20,000,000 & 1A 20,000
OL2AlE BIZERE JAIPZAIE S
18,000,000 & » 14 18,000
OHIISHalAIE (A2) B3 A
150,000,000 & » 14! 150,000
Melldl ~2tAlE &3 1,200,000 0 1,200,000
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A 2E0
M HolE 22
Rl SEHOIE XM2AE =4 (el &
= _ d A
SA B9 (SH) - HRAY - B2 0f &r i HIDS2
= 360,000
S 252,000
= 588,000
401 AIEHIZ S0 1,200,000 0 1,200,000
= 360,000
< 252,000
= 588,000
01 Al&HI 1,195,000 0 1,195,000
OHIISXeIAIE (£21) EXIAE
1,195,000,000 & * 14 1,195,000
= 358,500
= 251,000
= 585,500
03 AIE 2 THHI 5,000 0 5,000
OHIISXMeIAE (A2)) &AL
5,000,000 & 14! 5,000
= 1,500
= 1,000
s 2,500
S% HEd 22 48,825 48,825 0
S% MADINEE RA22 48,825 48,825 0
101 Q124 9,400 9,400 0
04 JI2ZtHMZ2Z2 R s2+ 9,400 9,400 0
OSHUMEXN HM=&ZY AUFY 100,000 «940! 9,400
201 Zer2E| 39,425 39,425 0
01 At 22|l 37,425 37,425 0
OSHEX &8l SX= 2,000,000 *19H A 2,000
OSHIMEX &=+ X 2,982,500 & #1028 29,825
O8=zc MHEd FAMS LAz
4,000,000 *19H 2 4,000
Oo&tule MHEE FAMS A=
1,600,000 & * 17K £ 1,600
02 =529l 2,000 2,000 0
OSHMEX AE=XH| 2,000,000 * 14 2= 2,000
#Y2HZH (22 1) 291,256 280,534 10,722
S 21,800
= 269,456
ol HH| (22 1) 238,642 226,646 11,996
= 21,800
Ea 216,842
el (&3 1) 79,097 81,625 A2,528
101 21244 79,097 81,625 A2,528
01 2= 79,097 81,625 A2,528
Oozu=2R+H 10,2092 1621 x480 Al 2+ 79,097
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S 2D
M HH2IZH| (BF D)
el olE2AY| (2d 1) (ctel &3
SA - BH . (B30) - HSEAY - BAS Ofl & o8 Gl HDE2
LRSI ZANU 2 URY 159,545 72,500 87,045
= 21,800
= 137,745
101 Q1 24H| 159,545 72,500 87,045
= 21,800
i 137,745
03 RIIAAZZRHE 159,545 72,500 87,045
OLRAEZZAU 2 159,545
OpE-—= 1,380,480 & 401 x12& 66,264
& 19,880
2 46,384
(OF =) 5,521,920 & 40! 22,088
OXRxg 140,000 x4+ 12& 6,720
& 1,920
2 4,800
O&el=< 110,000 & 421« 128 5,280
O 60,000 & 42!« 128 2,880
Ox&8+E 100,000 & 401 x12& 4,800
OAZt2==g
10,910 & 20 Al 2t 122 % 150%+*4 15,711
OZAH=AHI 100,000 & 421128 4,800
OZE SOt 1,381,000 & =401 5,524
OJ&EY 3,840
-t Xt 40,000 & 22! 123 960
-22 20,000 & 401« 128 960
IE! 80,000 & 22! 128 1,920
OS2 4| 87,2813 152 x40! 5,237
o8z 15,201
-=0ld= 36,087,000 & *0.045%4 2! 6,496
-NESH 36,087,000 & *0.015%4 2! 2,166
-ALEE 36,087,000 & *0.0324x4 21 4,677
-HIIeYEH 1,170,000 & +0.0738%4 2! 346
-MHEEREZ 36,087,000 x0.0105%4 21 1,516
o=l 300,000 #4021 1,200
Jl=ZHl (23 D) 52,614 53,888 A1,274
Jl2dyl (s 2ent) 52,614 53,888 AN1,274
201 et | 26,814 27,888 A1,074
01 At 2teltl 26,814 27,888 A1,074
O get=2H| 15,690,000 & * 14! 15,690
o=l 6,144,000 & » 14! 6,144
oYxt= 4,980,000 & =14 4,980
202 O4d| 21,600 21,200 400
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A 2E0
M #NYSAA| (&Y
ol D= A (2E D) (et &
= _ d A
SK - FH B9 () - MIRAY - B eSS i HIDS2
01 2LHOHI 21,600 21,200 400
oY= J|20d 21,600,000 14| 21,600
2R =4l 4,200 4,800 A600
FAEEYR=AH| 4,200 4,800 A600
ORM2EYRF2AHI 350,000 & x12& 4,200
Mg Z1) 22,000 2,122,000 2,100,000
L= A 3 22,000 2,122,000 22,100,000
LHEHAH X E 22,000 2,122,000 22,100,000
sdES 22,000 22,000 0
OJIsdEs 22,000 22,000 0
OBBMAME o
A 22,000
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